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1.

Answer the following as directed :
(any ten) |

ﬁmﬂwﬁnm%w@ (Reazat vait)

(a} Shareholders Wealth 1n a firm is

1x10=10

represented by :
ST B o’ HITF ST I 3

0

(ii_)_

(i)

(v)

.the number of people employed in

a firm .

-eff%'e‘meﬁm%ralfwvmﬁ

the book value of the firm’s assets

2fSdiTs it Bk

the amount of salary paJd to its

employees

'-Waﬂ%@asmwwoﬁm

the market price per share of a
firm’s common stock

DI STet B9 fS St e e

(Choose the correct alternative) :

(3% Reseht > Bfasar)
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(b)

(©)

4 (Sem-5/CBCS) COM RE 5/RE 6/G 3

NPV stands for:
NPV (I 5P 8

UM

(@)

net profitability value

4TS FSCAY 7

net present value

(iii) net purchase.value

4TS T Y

(iv) None of the above

89ITF GBS TRy
(Choose the correct alternative)

(o% Rewesr A Gfaea)

Capital budgeting deals with *
T4 ATTBT S SO 3

()

(@)

(iii)

(v)

cash management-

o SReE

management of working. capital
I I ARG
managing fixed assets

F Tifen ARoem

None of the above
ST OIS T

(Choose the correct altematii)e)

(®% [Pwchr A Svewy)
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(d)

(e)

Cost of preference share is:
NIRRT S e RIEE
(i) treated for tax
IR AR Reomt =1 =
(i) not treated for tax
99 AR Rt w11 7=

" (iii) only occasionally treated for tax

(iv) None of the above
e a%t\fs =

(Choose the ‘correct altematzve}

(v% Reschr 5 Bferedn)

Internal rate of return is the dlscount'

rate, at which

W@%wmﬁm@rm TS
(i) NPV >0

(ii) - NPV <.0

i) NPV = 0

(iv) None of the above
8AT (OIS oy

(Choose the correct alternative )

(%% st a5 Bieed)

4 {Sem-5/CBCS) COM RE 5/RE 6/G 4

(/ Dividend yield is computed as:
| a—n\*f%on@ﬁﬁm@ ICH! Bl FRef <t

?glo

(i) dividend per share divided by the
*  market price per share

we lfS e o o W ol
Al Retew

(ii) d1v1dend per share divided by face
value per share -

e 2lfSs STerIeT e @ife WS SRGIR|
(face value) 7St ﬁw '

(iii) total profit divided by EPS

*{bﬁWEPsawﬁ—W

(iv) total profit divided by number of

shares outstanding

T oo SAReNRE () W\“Wm
37\2313 79 ﬁ—m

( Choose the correct alternative )

(% [Reseor 5 Glevean)

4 (Sem-5/CBCS) COM RE 5/RE 6/G S ‘ - Contd.



(9) = Capitalisation of proﬁt process

()

involves lSSUlng

ST e eiférm — Rt Fire oive |
) - bond dividend

TG IR ‘
(i) cash dividend
AV TSI
(iit)  stock dividend
TS Ao
(iv) property dividend
- IT~HfG FTejieN
(Choose the correct alternative)
(% Reseor 5 @7%@%)
Stable dividend means :
AFZ TN M e ¢
(i) constant dividend per share
ofS s B sTepien

(ii) constant dividend payout ratio

. of$ SN MR Sieire
(i) Both (i) and (i)
() SR (ii) TR
(iv) None of the above
B9 I8 = -
( Choose the correct alternative ) -

(8% Rescsr a5 siaear)
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Q)

0)

The overall cost - of capltal is also |
known as: ' c

o) JER IR S B AW %o ¢
i) .marginal cost of capital
| qaam‘ A
(ii) vanable cost of capltal
RGO ﬂﬁaﬁ% w
iti) Welghted cost of capital \
Y OIS T
(iv) specific cost of capital |
- (Choose the correct alternative)
(o7 R a6 Saea)

When ____ is greater than zero, the
project be accepted

(Flll in the blank)

afea — WIS WW@N,WW.
>RT it | (7] BT of3 )
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(k)

[V

(m)
- decision: (Fill in the blank)

)

. 7RI el |

According to traditional approach. cost
of capltal is affected by _-

(Fill in the blank)
RIS ARG TP L I

(Fill in the blank)
4] asn BT I —— Tio® J3 |

(T A 79 7))

Investment decision is a part of ____

R Prare —— P <61 @it
(T T 239 1)

A finance manager is accountable for

aﬂmﬁ@wﬁmas

T I WA

(i) earning capital assets of the

company
@A ER ol B

(ii) effective management of a fund
ffem e ARBEI

(iti) . arrangement of financial
resources

(iv) proper utilization of fund
(Choose the correct alternative )

(5% Rt A Sfmear)
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(:/za‘?mqacrwr) |

Retained earning donot involve any .

(o) Wr1te Whether the following statements

are true or false.

- oot fra RYfowR s T B

(i) The profitability index or benefit-
cost ratio is the relation between .
the present value of future net
cash flow and the initial cash -
outlay.

SRACS ARG 2T AW 47 AT AH
g Fom R TR & ae
YEaT 3 (FL=iR) A A< Sgaie
Rp=)I _
(i) The nét working capital is the

excess of current assets over
current liabilities.

gge a1 6 oS T T v (AR
oI BieTO AT oI | o

(i) When the company pay dividend
in the form of bond, it is called
property dividend.

@ @A TS oo s
fica, cofoal O T=ifg oo @ne |

(iv) When profitability index exceeds
one, the proposal is rejected.

@fsal profitability index «31
69T T, (OO o4 4T 9 T2 |
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. Answer any five of the following questions:

in about 50 words each : 2x5=10

o Rzl Fli5b1 e Ao AR OB A *I

(a) State the advisory = functions of
financial management.
e ﬂﬁsﬁm T Y Tl T4

(b) " State the meaning of EPS.
EPS 3 9¥ T 1|

(c) How i IS average collectlon perlod
computed ?

T S P S olAI <l 2

(d) -What is the meamng of internal rate of
return?’ :

SIS SR T w0 e
(o) What is pay-back period ?
Rt ARenf s &

() State the use of credit policy in th¢
- context of working cap1ta1

?‘s'wgl TR e 99 @y M09
WWW“ .

10

(g9 What is stock dividend ?

o o 2

(h) State the objectives of wealth
maximisation.
A R oy e 34|

(i) What is trading on quuity;?
ma*ﬁ‘ FJRANTRA e

G) Whéf ié receivables managefnent?
1l ARl B?.

Answer any four questions of the
following in about 150 words each :
5x4=20

ICHD| ﬁwmwﬁﬁwmm 150%1 Ria

- fooTe Ter = ¢

(a) Why wealth maximisation is more
viable goal of finance function ?

Explaln
o TR e IR B ofis srfew
7 22 I [ :
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~

~(b). Explain the factors determining the

()

@)

() -

capital structure.
T SR REermIR otz i < |
Mention the different types of financial

decisions and examine their mutual
relationship.

Rfon ooy Ry Pmisr S 1 wie

G AR TEE st

State the manner of computation of
the cost of equity and debt capital.

TR (BB W 4w @ AR
wﬁs‘%m el ‘_ . ~

Distinguish between financial leverage
and operating leverage.

ﬁ@’q FeiEs Wi W‘?ﬂ@ﬁa ﬁW\Q

YromaR forat

State  the circumstances which
warrants .issue of bonus shares

TR RS @b wome /ey w9
SR 2T @Y 91
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(9)

(h)
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What are the adverse effects of_ .'

. excessive working capital in a firm ?

- ofSDm cﬂ?ﬁ%‘@"]ﬁ\o &?FW&?{W&‘T\W
aor e -

Ganesh Ltd. expects its cost of goods

~sold for the year 2017-18 to be

Rs. 500 lakhs. The expected operating
cycle is 90 days. It wants to keep a
minimum cash balance of Rs. 1.5

lakhs. What is the expected working

capital requirement ? Assume a year -
consists of 360 days. o

et BRIETSR 2017-18 74 ST Ref
ol 3@ AW TA Rs. 500 | TSR]
ofialBe b T& 90 WA | Rs. 1.5 &I g4
(odreme IR Rowl wEw Iwm @)
(OSEIRT SEN PEA e S
N =7 Al 28F Bl IS 360 fi |
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4.

Answer any four of the following questions

in about 600 words each :

10x4= 40

oo ﬁmmwﬁﬁrmmm eoo%tsna
] foose Tew 1 ¢

@)

(©)

Discuss the scope and objectives of-
financial management.

Rt AT =17 i SRR 3 3 |

~Give “acriti€al analysis of net present

value (NPV) vs. internal rate of return
(IRR).

Internal rate of return (IRR) I net

-'present value (NPV) I Wise @ 3.

SIS Resre fa |
Discuss the modern method of capital
budgetlng :

T A Wi TS S =
(@

Identlfy and discuss the factors
affecting a firm’s dividend and

. retention of earning pohcy

aﬁﬁmm\nmw iR A Nfos
W@ﬁﬂﬁ—%mmqqﬁarmwmw

B3l I
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(e)

@

()

@)

Discuss any two theories of lcap.ital'
structure.
eI RN R Z?/&Ei <l |

' What is inventory management?

Explain the various tools and.
techniques used for ~ inventory
management 2+8 10 -

WWWW.WWW'

Discuss the forecasting techniques of

‘working capital requirement of a

firm.

«B1 AT 2AfSHNT FRIF [T
mmwmﬁmqwm
e 1 |

Elaborate the Modigliani ‘and Miller -
hypothesis of dividend decisions.
Examine its validity.

Foikx et Frales. (s Mod1gl1an1
9% Miller WWWWIW
B TSl Reag 1|

What do you understand by cash

management ? How can it be
undertaken ? 2+8=10

oW IR o B @ e WS @

T 9
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()~ A company is considering to pufchase
one of the following two computers, the
details of which are given below :
AT BIR 751 FTERT Trew =t @bt
F{TOR R e et | TR zﬁa
=l were famt 7 ¢

Year Cash inflow (in. Rs) |Discount factor @ 10%
- Computer A | Computer B
o Ist 20,000 22,000 0.909
2nd 24,000 40,000 0.826
3 | 26000 8000 | T oz
4th 18,000 20,000 0.683
sth | 12,000 10,000 0

Cost of the computer A and computer
B are Rs. 55,000 each.

WAWWBWW
T RS Rs. 55,0001

- Calculate net present value and

suggest which one should be
purchased by the management of the
company.

SR SYRFR AT 2ipe 367 6T otely
TSI (PIRCS! ST =iy Ry
TS =, st SeRepH
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OPTION-B
(Indirect Tax Laws)
| Paper : COM-RE-5066

Ans§ver any ten questions as directed:
- 1%10=10

() GSTINis a _ digit alphanumeric .
number. (Fill in the blank wzth
appropriate word/ words)

GSTIN %1 &5l —— TR I T
 (GagE e e IR A )

(i) GST removes effect of tax. (Fill-in
the blank with appropriate word/words)

 GST-9 TR/ —— oI ¥ F(S|
(BT T N IT 979 B9
(i) The burden of GST is borne by State

. Government. (State whether the
statement is true or false)

GST-F (@ISl Iy HIFIE I FE|
(Cf&ch! o% « qu% G 391)
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(iv)  Customs duty is a form of tax.
{Fiﬂ in the blank with appropriate
. word/words)

A &F o 9 @R —— 9|
@W’ﬂm%tﬁwwn

(v) GST was introduced in India with effect

- from 1% April; 2017. - (State whether
the statement is true or false)

SHefs GST 2017 579 sife it oI
SR S | |

(@ﬁ?c‘ﬁ‘/wmwwamvw) |

(vi) GST is a — based tax. (Fill in the
blank with appropriate word/ words)

GST’\"’W‘@T—%%%WI .

(uzz) Customs duty is levied by State

Government. (State Whether the
statement is true or false) .

W@swwwwqw@,
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(viii) is the first country to implement
GST in the year 1954. (Fill in the blank
with appropriate word/words)
—— Trm AL (7 R 1954 5 GST
sl SR | (TS 7T et 312 29 39)
(ix) The alphabet T’ in IGST indicates___.
(Fill in the blank with appropnate ’

word/words)
IGSTR Wors & T acfcﬁm vism |
(Boye 2o A 312 3% 7).

(x) GST is a regressive tax system (State

whether the statement is true or false)
'GST T <61 gl < 97
| (Bfechr oF @ wom S 7)

(xi). GST is a multi-point tax system. (State
whether the statement is true or false)

GST"JZ’FI <t ITFIW T [T |

(R vm 7 wom TErd w9

(ﬁz} Assam VAT Act, 2003 came into effect
from 1° day of Apnl 2005. (State
whether the statement is true or false)

o VAT i3, 2003 ¥ «f@e, 2005
iR ol rsiRerat
(& 9% o T5% @m?/ =)
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(dij) VAT is a type of _ tax. (Fill in- the
- blank with appropriate word/words)
VAT T @3 499 Lol

B - (CgE T A 32w B )

(xiv) Central excise duty is levied and

collected by . (Fill in the blank with
appropriate word/words)

o T R —— A
TRAZIN A | (G 273 A 52 77 7)
(xv) Under the Customs Act, 1962,

‘prohibited goods’ cannot be exported.
(State whether the statement is true or Jalse)

T = TR, 19627 wifiTe Fiw @ I8
IS AR [ |

(Rt o7 7 wom B Ty

(xvi) The liability to pay central excise- duty
vests on the of the goods. . (Fill in
the blank with appropriate word/ words)

SRR L S IR I e—
‘QGWme'

(@WWW%WWW)

6/G
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i) Regi tion undér the GST Act ..is
by Reglﬁ;;id. (Fill in the blank with
appropriate word/words).

GST Sizee wdie Gk 2o ___ fofes
(Bofge *rod e 31 937 3)

(xviii)A person registered un.der compos1t(1;i1
scheme cannot claim input tax creadit.

' (State whether the statement

is true or false).

Composition scheme= SRS AT T
IfF input tax credit W I ERIE|

(Cfeehr om 7 wom CEd 77
2. Answer any five questions: 2x5=10
facarzat <low e T frat s

(i) What is indirect tax?
s 39 W & =2
(i) What is VAT ?

VAT'W%@?
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(iii)

(iv)

Briefly explain the meaning of ‘excisable
goods’.

AR FAAY @I 9L GLF I |

Explain the meaning of factory’ as per -

the provisions of the Central Excise Act,
1944, .

(T SRR i3, 1944‘% 4l TS ‘asmn:n

39 I | o

(v)

(vi)

(vii)

Mention any two objectives of levying
customs duty. :

AN & S W Rl 751 Som e
Sl |

Explain the meaning of ‘Territorial
Waters’ under the Customs Act, 1962 ?

A o §iE, 19627 GRS, “Territorial
Waters’g &gf I K | '

Explain the meaning of GST.

GST= 9% 17 771 |

4 (Sem-5/CBCS) COMRES/RES/G 22

(viij) Mention any two.benefits of dual GST..

@S GST= A @ﬁﬁmm |
(ix) Explain the meaning Qf input tax credit.
ol Byt (e wﬁaﬁﬁﬂﬁl
(x) Whatis intef—state supply under GST?
GST= TfFG SIERIRTS @M W & =
Aﬁswer anyv Jour questions:: 5»><v4=2‘0
1) Brieﬂy explain an’y ﬁi)e advantages of
VAT. | |
VAT ez <ot ket o3l Rl
(i) Write a short note on val.ua;cion of
’ excisable goods. '
Wm‘mw TEHRE- @9FS B! 5
Cort Toialt |
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(i)

Explain the fnea:‘ning of ‘Baggage as
per the provisions of the Customs Act,

1962.

A o wiE, 1962—3%131?1{“21}1‘c61@.awqf
. 0 T

(iv)

(v)

(i)

(vii)

What is composmon scheme in GST ?

GST—E E@W composmon scheme A

ﬁS‘q?rv

Briefly explain the conditions for -
. claiming input tax credit under GST.

GST-T f® %ol Byier s Wit v A
DOIIZ G I 1|

Briefly explain the rate structure of
GST

- GSTI W m-acn-a 5 I 3|

Write a note on the constitution of GST
‘Council,

GST-3 W57 @siTs <51 (Bl v |
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(viii) Write a note on the threshold limits for
registration under GST.

GST< TS ﬂfm-m ﬁif@@ﬁﬂﬁ @5TS
<t (ot forel|

Answer any four questions: 10><4=4Q

(i) Write a note on the taxability of alcohol
and petroleum products ‘under VAT.

VAT e Al O (eSS Tos
FCATOR esiS <t (BRt o

(ii) Descﬁbe the history of indirect taxes in

Ind1a

Wmmiﬁma@W|

(iii) Explaln the procedure of reglstratlon
under the Central Excise Act..

@@’JWWWW ﬂfW‘ﬁ%'
0t A
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~(iv)

(v)

(o)

(vii)

Write a brief note on the h1storjy of
Central excise law in India.

WWWWW@W
<1 5 (Bl forat|

Briefly explain any five types of customs
duties.

: W»%Wﬁiﬁteﬁmmﬁ|

Briefly explain the expoft procedure
under the Customs Act, 1962.

BT WE, 1962 ST a@ﬁ ’%TF‘

B IR I |

(a) Explain the concept of dual GST
- Model. S

(7S GST wifEs 4=l 1 31|

(b) Write a note on the commodities

which are kept outside the scope
of GST. 5

GS’I‘-@WWWWGW
<ot (Bl forar |
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(viii) Write a brief history on the introduction’

of goods and services tax in India

.. T I W% maﬁwﬁﬁrwaﬁﬂ

()
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fogm Tt

Explain the advantages of- reg1strat10n
under GST.

GST= vﬁm g 9 qﬁmmaﬁn :

Brieﬂy explai'n"the various 'types of
assessment under GST.

. GST—?WWW@WWﬁ%&‘EWW

ST T |

C o7 2600



